

A new class of degenerate Frobenius-Euler-Hermite polynomials

Waseem A. Khan

Department of Mathematics, Faculty of Science, Integral University,
 Lucknow-226026, India

E-mail: waseem08_khan@rediffmail.com

Abstract. In this paper, we introduce a new class of degenerate Frobenius-Euler-Hermite polynomials and investigate some identities of these polynomials. Some implicit summation formulae and symmetric identities are also derived by applying the generating functions. These results extend some known summations and identities of generalized degenerate Frobenius-Euler-Hermite polynomials studied by Pathan and Khan.

Keywords: Hermite polynomials, degenerate Frobenius-Euler polynomials, degenerate Frobenius-Euler-Hermite polynomials, Summation formulae, Symmetric identities.

2010 Mathematics Subject Classification: 05A10, 05A19, 33C45.

1. Introduction

The 2-variable Hermite Kampé de Fériet polynomials (2VHKdFP) $H_n(x, y)$ [2, 3] are defined as

$$H_n(x, y) = n! \sum_{r=0}^{\lfloor \frac{n}{2} \rfloor} \frac{y^r x^{n-2r}}{r!(n-2r)!}. \quad (1.1)$$

It is easily seen from definition (1.1) that

$$H_n(2x, -1) = H_n(x)$$

and

$$H_n(x, -\frac{1}{2}) = He_n(x),$$

where $H_n(x)$ and $He_n(x)$ being ordinary Hermite polynomials [1]. Also

$$H_n(x, 0) = x^n.$$

The generating function for Hermite polynomial $H_n(x, y)$ are given by [5, 6, 7, 9, 10]:

$$e^{xt+yt^2} = \sum_{n=0}^{\infty} H_n(x, y) \frac{t^n}{n!}. \quad (1.2)$$

The generating function for degenerate Hermite polynomials are given by [13]:

$$(1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} = \sum_{n=0}^{\infty} H_n(x, y; \lambda) \frac{t^n}{n!}, \quad (1.3)$$

where $\lambda \neq 0$.

Since $(1 + \lambda t)^{\frac{x}{\lambda}} \rightarrow e^t$ as $\lambda \rightarrow 0$, it is evident that (1.3) reduces to (1.2). That is $H_n(x, y)$ limiting case of $H_n(x, y; \lambda)$ when $\lambda \rightarrow 0$.

By equating coefficients of t^n on both the sides of (1.3), the following representation of $H_n(x, y; \lambda)$ is obtained

$$H_n(x, y; \lambda) = n! \sum_{r=0}^{\lfloor \frac{n}{2} \rfloor} \frac{\left(-\frac{x}{\lambda}\right)_{n-2r} \left(-\frac{y}{\lambda}\right)_r (-\lambda)^{n-r}}{r!(n-2r)!}. \quad (1.4)$$

Since $\lim_{\lambda \rightarrow 0} H_n(x, y; \lambda) = H_n(x, y)$, (1.1) is a limiting case of (1.4).

Recently, Kurt and Simsek [19] introduced the following classical Frobenius-Euler polynomial as follows:

The classical Frobenius-Euler polynomial $H_n^{(\alpha)}(x; u)$ of order α is defined by means of the following generating function:

$$\left(\frac{1-u}{e^t-u}\right)^\alpha e^{xt} = \sum_{n=0}^\infty H_n^{(\alpha)}(x) \frac{t^n}{n!}, \tag{1.5}$$

where u is an algebraic number and $\alpha \in \mathbb{Z}$.

Observe that $H_n^{(1)}(x, u) = H_n(x, u)$, which denotes the Frobenius-Euler polynomials, $H_n^{(\alpha)}(0; u) = H_n^{(\alpha)}(u)$, which denotes the Frobenius-Euler numbers of order α and $H_n(x; -1) = E_n(x)$, which denotes the Euler polynomials (c.f [1-27]).

In [4], Carlitz introduced the degenerate Bernoulli polynomials are defined by

$$\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^\infty \beta_n(\lambda, x) \frac{t^n}{n!}. \tag{1.6}$$

When $x = 0$, $\beta_n^{(\alpha)}(\lambda) = \beta_n^{(\alpha)}(\lambda, 0)$ are called the degenerate Bernoulli numbers.

From (1.6), we have

$$\lim_{\lambda \rightarrow 0} \frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} = \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^\infty B_n(x) \frac{t^n}{n!},$$

where $B_n(x)$ are called the Bernoulli polynomials (see [21-25]).

Kim et al. [14;p.4,Eq.(2.13)] introduced the degenerate Frobenius-Euler polynomials are defined by

$$\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^\infty h_{n,\lambda}(x; u) \frac{t^n}{n!}. \tag{1.7}$$

So that

$$h_{n,\lambda}(x; u) = \sum_{m=0}^n \binom{n}{m} h_{m,\lambda}(u) \left(\frac{x}{\lambda}\right)_{n-m}, \quad (n \geq 0).$$

When $x = 0$, $h_{n,\lambda}(u) = h_{n,\lambda}(0; u)$, are called degenerate Frobenius-Euler numbers.

Note that

$$h_{n,\lambda}\left(\frac{1}{u}\right) - u h_{n,\lambda}(u) = \begin{cases} 1-u, & \text{if } n = 0 \\ 0, & \text{if } n > 0. \end{cases}$$

Kim et al. [14] proved that

$$h_{n,\lambda}^{(\alpha)}(x; u) = \sum_{m=0}^n \binom{n}{m} h_{m,\lambda}^{(\alpha)}(u) \left(\frac{x}{\lambda}\right)_{n-m}, \quad (n \geq 0), \tag{1.8}$$

where

$$\left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u}\right)^\alpha (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^\infty h_{n,\lambda}^{(\alpha)}(x; u) \frac{t^n}{n!}. \tag{1.9}$$

Pathan and Khan [22] introduced the following generalized Hermite-Bernoulli polynomials of two variables ${}_H B_n^{(\alpha)}(x, y)$ as follows:

$$\left(\frac{t}{e^t - 1}\right)^\alpha e^{xt+yt^2} = \sum_{n=0}^\infty {}_H B_n^{(\alpha)}(x, y) \frac{t^n}{n!} \tag{1.10}$$

Setting $\alpha = 1$ in (1.10), the result reduces to known result of Dattoli et al. [8;p.386(1.6)]:

$$\left(\frac{t}{e^t - 1}\right) e^{xt+yt^2} = \sum_{n=0}^\infty {}_H B_n(x, y) \frac{t^n}{n!}. \tag{1.11}$$

Also, we recall here the following definitions:

The Stirling number of the first kind is given by

$$(x)_n = x(x - 1) \cdots (x - n + 1) = \sum_{l=0}^n S_1(n, l)x^l, (n \geq 0); \tag{1.12}$$

and the Stirling number of the second kind is defined by generating function

$$(e^t - 1)^n = n! \sum_{l=n}^\infty S_2(l, n) \frac{t^l}{l!}. \tag{1.13}$$

A generalized falling factorial sum $\tau_k(n; \lambda)$ can be defined by the generating function [27]:

$$\sum_{k=0}^\infty \tau_k(n; \lambda) \frac{t^k}{k!} = \frac{1 - (-(1 + \lambda t)^{\frac{(n+1)}{\lambda}})}{1 + (1 + \lambda t)^{\frac{1}{\lambda}}}, \tag{1.14}$$

where $\lim_{\lambda \rightarrow 0} \tau_k(n; \lambda) = T_k(n)$.

In this paper, we consider the degenerate Frobenius-Euler-Hermite polynomials and investigate some properties and identities of these polynomials.

2. Generalized degenerate Frobenius-Euler-Hermite polynomials

For $\lambda, u \in \mathbb{C}$ and $\alpha \in \mathbb{N}$ with $u \neq 1$, we consider generalized degenerate Frobenius-Euler-Hermite polynomials of order α which are given by the generating function:

$$\left(\frac{1 - u}{(1 + \lambda t)^{\frac{1}{\lambda}} - u}\right)^\alpha (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} = \sum_{n=0}^\infty {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \frac{t^n}{n!}. \tag{2.1}$$

So that

$${}_H h_{n,\lambda}^{(\alpha)}(x, y; u) = \sum_{m=0}^n \binom{n}{m} h_{n-m,\lambda}^{(\alpha)}(u) H_m(x, y; \lambda), n \geq 0. \tag{2.2}$$

When $x = y = 0$ in (2.1), $h_{n,\lambda}^{(\alpha)}(u) = {}_H h_{n,\lambda}^{(\alpha)}(0, 0; u)$ are called generalized degenerate Frobenius-Euler numbers of order α .

Note that

$$\begin{aligned} \lim_{\lambda \rightarrow 0} \left(\frac{1 - u}{(1 + \lambda t)^{\frac{1}{\lambda}} - u}\right)^\alpha (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} &= \left(\frac{1 - u}{e^t - u}\right)^\alpha e^{xt+yt^2} \\ &= \sum_{n=0}^\infty {}_H E_n^{(\alpha)}(x, y; u) \frac{t^n}{n!}. \end{aligned} \tag{2.3}$$

From (2.1) and (2.3), we have

$$\lim_{\lambda \rightarrow 0} {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) = {}_H E_n^{(\alpha)}(x, y; u), \tag{2.4}$$

where ${}_H E_n^{(\alpha)}(x, y; u)$ are called generalized Frobenius-Euler-Hermite polynomials of order α .

For $\alpha = 1$, (2.1) reduces to

$$\left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right) (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} = \sum_{n=0}^{\infty} {}_H h_{n,\lambda}(x, y; u) \frac{t^n}{n!}. \tag{2.5}$$

By using equations (2.1) and (2.5), we state the following theorem:

Theorem 2.1. For $n \geq 0$, we have

$$\frac{1}{1-u} \left\{ {}_H h_{n,\lambda}^{(\alpha)}(x+1, y; u) - {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \right\} = {}_H h_{n,\lambda}^{(\alpha-1)}(x, y; u). \tag{2.6}$$

Proof. We observe that

$$\begin{aligned} & \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^\alpha (1+\lambda t)^{\frac{x+1}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} - \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^\alpha (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} \\ &= \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^{\alpha-1} (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} (1-u) \\ & \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x+1, y; u) \frac{t^n}{n!} - \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \frac{t^n}{n!} = (1-u) \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha-1)}(x, y; u) \frac{t^n}{n!}. \end{aligned}$$

On comparing the coefficients of $\frac{t^n}{n!}$ on both sides, we get the result (2.6).

Remark 2.1. For $y = 0$, Theorem 2.1 reduces to known result of Kim et al. [14;p.6.,Theorem 2.7].

Corollary 2.1. For $n \geq 0$, we have

$$\frac{1}{1-u} \left\{ h_{n,\lambda}^{(\alpha)}(x+1; u) - h_{n,\lambda}^{(\alpha)}(x; u) \right\} = h_{n,\lambda}^{(\alpha-1)}(x; u). \tag{2.7}$$

Theorem 2.2. For $m \geq 0$, we have

$$\sum_{n=0}^m \binom{m}{n} h_{m-n,\lambda}^{(\alpha)}(x; u) \left(-\frac{2y}{\lambda}\right)_n (-\lambda)^n = \sum_{n=0}^m {}_H E_n^{(\alpha)}(x, y; u) \lambda^{m-n} S_1(m, n). \tag{2.8}$$

Proof. From equation (2.3), we have

$$\left(\frac{1-u}{e^t - u} \right)^\alpha e^{xt+yt^2} = \sum_{n=0}^{\infty} {}_H E_n^{(\alpha)}(x, y; u) \frac{t^n}{n!}. \tag{2.9}$$

Replacing t by $\log(1+\lambda t)^{\frac{1}{\lambda}}$ in above equation, we get

$$\begin{aligned} & \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^\alpha (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t)^{\frac{2y}{\lambda}} = \sum_{n=0}^{\infty} {}_H E_n^{(\alpha)}(x, y; u) \frac{1}{n!} \frac{1}{\lambda^n} (\log(1+\lambda t))^n \\ & \sum_{m=0}^{\infty} h_{m,\lambda}^{(\alpha)}(x; u) \frac{t^m}{m!} \sum_{n=0}^{\infty} \left(-\frac{2y}{\lambda}\right)_n \frac{(-\lambda)^n}{n!} = \sum_{n=0}^{\infty} {}_H E_n^{(\alpha)}(x, y; u) \lambda^{-n} \sum_{m=n}^{\infty} S_1(m, n) \lambda^m \frac{t^m}{m!} \\ & \sum_{m=0}^{\infty} \sum_{n=0}^m \binom{m}{n} h_{m-n,\lambda}^{(\alpha)}(x; u) \left(-\frac{2y}{\lambda}\right)_n (-\lambda)^n \frac{t^m}{m!} = \sum_{m=0}^{\infty} \sum_{n=0}^m {}_H E_n^{(\alpha)}(x, y; u) \lambda^{m-n} S_1(m, n) \frac{t^m}{m!}. \end{aligned}$$

On equating their coefficients of $\frac{t^m}{m!}$ leads to the formula (2.8).

Remark 2.2. On setting $y = 0$ in Theorem 2.2, we get the known result of Kim et al. [14;p.5.,Theorem 2.6].

Corollary 2.2. For $m \geq 0$, we have

$$h_{m,\lambda}^{(\alpha)}(x; u) = \sum_{n=0}^m H_n^{(\alpha)}(x; u)\lambda^{m-n}S_1(m, n). \tag{2.8}$$

3. Implicit summation formulae involving generalized degenerate Frobenius–Euler–Hermite polynomials

The purpose of this section is to give some interesting generating functions, new results and relations for the generalized degenerate Frobenius–Euler–Hermite polynomials. We begin here some of these results in the following forms:

Theorem 3.1. The following implicit summation formula involving degenerate Frobenius–Euler–Hermite polynomials ${}_Hh_{n,\lambda}^{(\alpha)}(x, y; u)$ holds true:

$${}_Hh_{n,\lambda}^{(\alpha)}(x + z, y + w; u) = \sum_{m=0}^n \binom{n}{m} {}_Hh_{n-m,\lambda}^{(\alpha)}(x, y; u)H_m(z, w; \lambda). \tag{3.1}$$

Proof. By the definition of degenerate Frobenius–Euler–Hermite polynomials and the definition (1.3), we have

$$\begin{aligned} \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}}-u}\right)^\alpha (1+\lambda t)^{\frac{x+z}{\lambda}}(1+\lambda t^2)^{\frac{y+w}{\lambda}} &= \left(\sum_{n=0}^\infty {}_Hh_{n,\lambda}^{(\alpha)}(x, y; u)\frac{t^n}{n!}\right) \left(\sum_{m=0}^\infty H_m(z, w; \lambda)\frac{t^m}{m!}\right) \\ &= \sum_{n=0}^\infty \sum_{m=0}^\infty {}_Hh_{n,\lambda}^{(\alpha)}(x, y; u)H_m(z, w; \lambda)\frac{t^{m+n}}{n!m!}. \end{aligned}$$

Replacing n by $n - m$ in above equation and comparing the coefficients of $\frac{t^n}{n!}$, we get the result (3.1).

Theorem 3.2. The following implicit summation formula involving degenerate Frobenius–Euler–Hermite polynomials ${}_Hh_{n,\lambda}^{(\alpha)}(x, y; u)$ holds true:

$${}_Hh_{n,\lambda}^{(\alpha)}(x, y; u) = \sum_{m=0}^{n-2j} \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} h_{m,\lambda}^{(\alpha)}(u) \left(-\frac{x}{\lambda}\right)_{n-m-2j} (-\lambda)^{n-m-j} \left(-\frac{y}{\lambda}\right)_j \frac{n!}{m!j!(n-2j-m)!}. \tag{3.2}$$

Proof. Applying the definition (2.1) to the term $\left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}}-u}\right)^\alpha$ and expanding the function $(1 + \lambda t)^{\frac{x}{\lambda}}(1 + \lambda t^2)^{\frac{y}{\lambda}}$ at $t = 0$ yields

$$\begin{aligned} &\left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}}-u}\right)^\alpha (1+\lambda t)^{\frac{x}{\lambda}}(1+\lambda t^2)^{\frac{y}{\lambda}} \\ &= \left(\sum_{m=0}^\infty h_{m,\lambda}^{(\alpha)}(u)\frac{t^m}{m!}\right) \left(\sum_{n=0}^\infty \left(-\frac{x}{\lambda}\right)_n \frac{(-\lambda t)^n}{n!}\right) \left(\sum_{j=0}^\infty \left(-\frac{y}{\lambda}\right)_j \frac{(-\lambda t^2)^j}{j!}\right) \\ &= \sum_{n=0}^\infty \left(\sum_{m=0}^n \binom{n}{m} h_{m,\lambda}^{(\alpha)}(u) \left(-\frac{x}{\lambda}\right)_{n-m} (-\lambda)^{n-m}\right) \frac{t^n}{n!} \left(\sum_{j=0}^\infty \left(-\frac{y}{\lambda}\right)_j \frac{(-\lambda t^2)^j}{j!}\right). \end{aligned}$$

Replacing n by $n - 2j$, we have

$$\begin{aligned} & \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n-2j} \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-2j}{m} h_{m,\lambda}^{(\alpha)}(u) \left(-\frac{x}{\lambda}\right)_{n-m-2j} (-\lambda)^{n-m-j} \left(-\frac{y}{\lambda}\right)_j \right) \frac{t^n}{(n-2j)!j!}. \end{aligned} \tag{3.3}$$

Equating their coefficients of $\frac{t^n}{n!}$, we get the result (3.2).

Theorem 3.3. The following implicit summation formula involving degenerate Frobenius-Euler-Hermite polynomials ${}_H h_{n,\lambda}^{(\alpha)}(x, y; u)$ holds true:

$${}_H h_{n,\lambda}^{(\alpha)}(x, y; u) = \sum_{m=0}^n \binom{n}{m} \left(-\frac{z}{\lambda}\right)_{n-m} (-\lambda)^{n-m} {}_H h_{m,\lambda}^{(\alpha)}(x - z, y; u). \tag{3.4}$$

Proof. By exploiting the generating function (2.1), we can write the equation

$$\begin{aligned} \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \frac{t^n}{n!} &= \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^{\alpha} (1+\lambda t)^{\frac{x-z}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} (1+\lambda t)^{\frac{z}{\lambda}} \tag{3.5} \\ &= \left(\sum_{m=0}^{\infty} {}_H h_{m,\lambda}^{(\alpha)}(x - z, y; u) \frac{t^m}{m!} \right) \left(\sum_{n=0}^{\infty} \left(-\frac{z}{\lambda}\right)_n \frac{(-\lambda t)^n}{n!} \right). \end{aligned}$$

Replacing n by $n - m$ in above equation and equating their coefficients of $\frac{t^n}{n!}$ leads to formula (3.4).

Theorem 3.4. The following implicit summation formula involving degenerate Frobenius-Euler-Hermite polynomials ${}_H h_{n,\lambda}^{(\alpha)}(x, y; u)$ holds true:

$${}_H h_{n,\lambda}^{(\alpha)}(x + 1, y; u) = \sum_{r=0}^n \binom{n}{r} \left(-\frac{1}{\lambda}\right)_r (-\lambda)^r {}_H h_{n-r,\lambda}^{(\alpha)}(x, y; u). \tag{3.6}$$

Proof. By the definition of degenerate Frobenius-Euler-Hermite polynomials, we have

$$\begin{aligned} & \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x + 1, y; u) \frac{t^n}{n!} + \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \frac{t^n}{n!} \\ &= \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^{\alpha} (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} ((1+\lambda t)^{\frac{1}{\lambda}} + 1) \\ &= \left(\sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \frac{t^n}{n!} \right) \left(\sum_{r=0}^{\infty} \left(-\frac{1}{\lambda}\right)_r \frac{(-\lambda t)^r}{r!} \right) + \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \sum_{r=0}^n {}_H h_{n-r,\lambda}^{(\alpha)}(x, y; u) \left(-\frac{1}{\lambda}\right)_r (-\lambda)^r \frac{t^n}{(n-r)!r!} + \sum_{n=0}^{\infty} {}_H h_{n,\lambda}^{(\alpha)}(x, y; u) \frac{t^n}{n!}. \end{aligned}$$

Finally, equating the coefficients of like powers of $\frac{t^n}{n!}$, we get our desired result (3.6).

Theorem 3.5. The following implicit summation formula involving degenerate Frobenius-Euler-Hermite polynomials ${}_H h_{n,\lambda}^{(\alpha)}(x, y; u)$ holds true:

$${}_H h_{n,\lambda}^{(\alpha+\beta)}(x + y, z + w; u) = \sum_{m=0}^n \binom{n}{m} {}_H h_{m,\lambda}^{(\beta)}(y, w; u) {}_H h_{n-m,\lambda}^{(\alpha)}(x, z; u). \tag{3.7}$$

Proof. Applying Definition (2.1), we have

$$\sum_{n=0}^{\infty} Hh_{n,\lambda}^{(\alpha+\beta)}(x+y, z+w; u) \frac{t^n}{n!} = \sum_{n=0}^{\infty} Hh_{n,\lambda}^{(\alpha)}(x, z; u) \frac{t^n}{n!} \sum_{m=0}^{\infty} Hh_{m,\lambda}^{(\beta)}(y, w; u) \frac{t^m}{m!}.$$

Replacing n by $n - m$ in the above equation, we get

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} Hh_{m,\lambda}^{(\beta)}(y, w; u) \frac{t^m}{m!} Hh_{n-m,\lambda}^{(\alpha)}(x, z; u) \right) \frac{t^n}{n!}.$$

Now equating the coefficients of like powers of $\frac{t^n}{n!}$ in the above equation, we get the result (3.7).

4. Identities for degenerate Frobenius-Euler-Hermite polynomials

In this section, we give general symmetry identities for the degenerate Frobenius-Euler-Hermite polynomials $Hh_{n,\lambda}^{(\alpha)}(x, y; u)$ by applying the generating functions (2.1) and (1.8). The results extend some known identities of Khan [11-13], Young [27], Pathan and Khan [21-25]. Throughout this section α will taken as an arbitrary real or complex parameter.

Theorem 4.1. For all integers $a > 0, b > 0, n \geq 0$ and $\alpha \in \mathbb{C}$, the following identity holds true:

$$\begin{aligned} & \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k Hh_{n-k,\lambda}^{(\alpha)}(bx, b^2y; u) Hh_{k,\lambda}^{(\alpha)}(ax, a^2y; u) \\ &= \sum_{k=0}^n \binom{n}{k} b^{n-k} a^k Hh_{n-k,\lambda}^{(\alpha)}(ax, a^2y; u) Hh_{k,\lambda}^{(\alpha)}(bx, b^2y; u). \end{aligned} \tag{4.1}$$

Proof. Start with

$$g(t) = \left(\frac{(1-u)^2}{((1+\lambda t)^{\frac{a}{\lambda}} - u)((1+\lambda t)^{\frac{b}{\lambda}} - u)} \right)^\alpha (1+\lambda t)^{\frac{abx}{\lambda}} (1+\lambda t^2)^{\frac{a^2b^2y}{\lambda}}. \tag{4.2}$$

Then the expression for $g(t)$ is symmetric in a and b and we can expand $g(t)$ into series in two ways to obtain

$$\begin{aligned} g(t) &= \left(\sum_{n=0}^{\infty} Hh_{n,\lambda}^{(\alpha)}(bx, b^2y; u) \frac{(at)^n}{n!} \right) \left(\sum_{k=0}^{\infty} Hh_{k,\lambda}^{(\alpha)}(ax, a^2y; u) \frac{(bt)^k}{k!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} a^{n-k} b^k Hh_{n-k,\lambda}^{(\alpha)}(bx, b^2y; u) Hh_{k,\lambda}^{(\alpha)}(ax, a^2y; u) \right) \frac{t^n}{n!}. \end{aligned}$$

On the similar lines we can show that

$$g(t) = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} b^{n-k} a^k Hh_{n-k,\lambda}^{(\alpha)}(ax, a^2y; u) Hh_{k,\lambda}^{(\alpha)}(bx, b^2y; u) \right) \frac{t^n}{n!}.$$

By comparing the coefficients of $\frac{t^n}{n!}$ on the right hand sides of the last two equations, we arrive at our desired result.

Remark 4.1. By setting $b = 1$ in Theorem (4.1), we immediately get the following corollary.

Corollary 4.1. For all integers $a > 0, n \geq 0$ and $\alpha \in \mathbb{C}$, the following identity holds true:

$$\begin{aligned} & \sum_{k=0}^n \binom{n}{k} a^{n-k} {}_H h_{n-k, \lambda}^{(\alpha)}(x, y; u) {}_H h_{k, \lambda}^{(\alpha)}(ax, a^2 y; u) \\ &= \sum_{k=0}^n \binom{n}{k} a^k {}_H h_{n-k, \lambda}^{(\alpha)}(ax, a^2 y; u) {}_H h_{k, \lambda}^{(\alpha)}(x, y; u). \end{aligned} \tag{4.3}$$

Theorem 4.2. For all integers $a > 0, b > 0, n \geq 0$ and $\alpha \in \mathbb{C}$, the following identity holds true:

$$\begin{aligned} & \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k {}_H h_{n-k, \lambda}^{(\alpha)}(bx, b^2 z; u) \sum_{i=0}^k \binom{k}{i} \tau_{i, \lambda}(a-1; u) h_{k-i, \lambda}^{(\alpha)}(ay; u) \\ &= \sum_{k=0}^n \binom{n}{k} a^k b^{n-k} {}_H h_{n-k, \lambda}^{(\alpha)}(ax, a^2 z; u) \sum_{i=0}^k \binom{k}{i} \tau_{i, \lambda}(b-1; u) h_{k-i, \lambda}^{(\alpha)}(by; u), \end{aligned} \tag{4.4}$$

where generalized falling factorial sum $\tau_{k, \lambda}(u; n)$ is given by (1.14).

Proof. We now use

$$g(t) = \frac{(1-u)^{2\alpha} (-u - (-(1+\lambda t)^{\frac{ab}{\lambda}})) (1+\lambda t)^{\frac{ab(x+y)}{\lambda}} (1+\lambda t^2)^{\frac{a^2 b^2 z}{\lambda}}}{((1+\lambda t)^{\frac{a}{\lambda}} - u)^\alpha ((1+\lambda t)^{\frac{b}{\lambda}} - u)^{\alpha+1}}, \tag{4.5}$$

to find that

$$\begin{aligned} g(t) &= \left(\frac{1-u}{(1+\lambda t)^{\frac{a}{\lambda}} - u} \right)^\alpha (1+\lambda t)^{\frac{abx}{\lambda}} (1+\lambda t^2)^{\frac{a^2 b^2 z}{\lambda}} \left(\frac{-u - (-(1+\lambda t)^{\frac{ab}{\lambda}})}{(1+\lambda t)^{\frac{b}{\lambda}} - u} \right) \\ &\quad \times \left(\frac{1-u}{(1+\lambda t)^{\frac{b}{\lambda}} - u} \right)^\alpha (1+\lambda t)^{\frac{aby}{\lambda}} \\ &= \sum_{n=0}^\infty {}_H h_{n, \lambda}^{(\alpha)}(bx, b^2 z; u) \frac{(at)^n}{n!} \sum_{n=0}^\infty \tau_{n, \lambda}(a-1; u) \frac{(bt)^n}{n!} \sum_{n=0}^\infty h_{n, \lambda}^{(\alpha)}(ay; u) \frac{(bt)^n}{n!}. \end{aligned} \tag{4.6}$$

Using a similar plan, we get

$$g(t) = \sum_{n=0}^\infty {}_H h_{n, \lambda}^{(\alpha)}(ax, a^2 z; u) \frac{(bt)^n}{n!} \sum_{n=0}^\infty \tau_{n, \lambda}(b-1; u) \frac{(at)^n}{n!} \sum_{n=0}^\infty h_{n, \lambda}^{(\alpha)}(by; u) \frac{(at)^n}{n!}. \tag{4.7}$$

Finally (4.4) follows after an appropriate change of summation index and comparison of the coefficients of $\frac{t^n}{n!}$.

Remark 4.2. for $\alpha = 1$ in Theorem (4.2), we immediately get the following corollary.

Corollary 4.2. For all integers $a > 0, b > 0, n \geq 0$ and $\alpha \in \mathbb{C}$, the following identity holds true:

$$\begin{aligned} & \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k {}_H h_{n-k, \lambda}(bx, b^2 z; u) \sum_{i=0}^k \binom{k}{i} \tau_{i, \lambda}(a-1; u) h_{k-i, \lambda}(ay; u) \\ &= \sum_{k=0}^n \binom{n}{k} a^k b^{n-k} {}_H h_{n-k, \lambda}(ax, a^2 z; u) \sum_{i=0}^k \binom{k}{i} \tau_{i, \lambda}(b-1; u) h_{k-i, \lambda}(by; u). \end{aligned} \tag{4.8}$$

Theorem 4.3. For all integers $a > 0, b > 0, n \geq 0$ and $\alpha \in \mathbb{C}$, the following identity holds true:

$$\sum_{k=0}^n \binom{n}{k} a^k b^{n-k} \sum_{i=0}^{a-1} {}_H h_{k, \lambda}^{(\alpha)}\left(bx + \frac{b}{a}i, b^2 z; u\right) h_{n-k, \lambda}^{(\alpha)}(ay; u)$$

$$= \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k \sum_{i=0}^{b-1} {}_H h_k^{(\alpha)} \left(ax + \frac{a}{b} i, a^2 z; u \right) h_{n-k, \lambda}^{(\alpha)}(by; u). \quad (4.9)$$

Proof. From (4.5), $g(t)$ can also be expanded as

$$g(t) = \left(\sum_{i=0}^{a-1} \sum_{n=0}^{\infty} {}_H h_{n, \lambda}^{(\alpha)} \left(bx + \frac{b}{a} i, b^2 z; u \right) \frac{(at)^n}{n!} \right) \left(\sum_{n=0}^{\infty} h_{n, \lambda}^{(\alpha)}(ay; u) \frac{(bt)^n}{n!} \right). \quad (4.10)$$

Using a similar plan, we get

$$g(t) = \left(\sum_{i=0}^{b-1} \sum_{n=0}^{\infty} {}_H h_{n, \lambda}^{(\alpha)} \left(ax + \frac{a}{b} i, a^2 z; u \right) \frac{(bt)^n}{n!} \right) \left(\sum_{n=0}^{\infty} h_{n, \lambda}^{(\alpha)}(by; u) \frac{(at)^n}{n!} \right). \quad (4.11)$$

By comparing the coefficients of $\frac{t^n}{n!}$ on the right hand sides of the last two equations, we arrive at our desired result.

References

- [1] Andrews, L. C, Special functions for engineers and mathematicians, Macmillan Co. New York, 1985.
- [2] Appell, P, Kampé de Fériet, J, Fonctions hypergeometriques et hyperspheriques, Polinomes d'Hermite, Gauthier-Villars, Paris 1926.
- [3] Bell, E. T, Exponential polynomials, Ann. of Math., 35(1934), 258-277.
- [4] Carlitz, L, Degenerate Stirling, Bernoulli and Eulerian numbers, Utilitas Math., 15(1979), 51-88.
- [5] Cesarano, C, Cennamo, G.M, Placidi, L, Operational methods for Hermite polynomials with applications, WSEAS Trans. Math., 13(2014), 925-931.
- [6] Cesarano, C, Fornaro, C, Vazquez, L, Operational results on bi-orthogonal Hermite functions, Acta Mathematica Universitatis Comenianae, 85(1)(2016), 43-68.
- [7] Cesarano, C, Fornaro, C, Vazquez, L, A note on a special class of Hermite polynomials, Int. J. Pure and Appl. Maths., 98(2)(2015), 261-273.
- [8] Dattoli, G, Lorenzutta, S and Cesarano, C: Finite sums and generalized forms of Bernoulli polynomials Rendiconti di Matematica, 19(1999), 385-391.
- [9] Dattoli, G, Ricci, P.E, Cesarano, C, Beyond the monomiality, The monumbrality principle, J. Comput. Anal. Appl., 6(1)(2004), 77-83.
- [10] Dattoli, G, Lorenzutta, S, Ricci, P.E, Cesarano, C, On a family of hybrid polynomials, Integral Trans. Spec. Funct., 15(6)(2004), 485-490.
- [11] Khan, W. A, Some properties of the generalized Apostol type Hermite-Based polynomials, Kyungpook Math. J., 55(2015), 597-614.
- [12] Khan, W. A, A note on Hermite-based poly-Euler and multi poly-Euler polynomials, Palestine J. Math., 6(2)(2017), 604-614.
- [13] Khan, W. A, A note on degenerate Hermite poly-Bernoulli numbers and polynomials, J. Classical Analysis, 8(1)(2016), 65-76.
- [14] Kim, T, Kwon, H. I and Seo, J. J, On the degenerate Frobenius-Euler polynomials, arXiv:1507.04846v1 [math. N.T] 17 July 2015.
- [15] Kim, D. S., and Kim T, Higher-order Degenerate Euler Polynomials, Applied Mathematical Sciences, 9(2)(2015), 57-73.
- [16] Kim, D. S, Kim, T, Komatsu, T, Kwon, H. I, Barnes multiple Bernoulli and generalized Barnes multiple Frobenius-Euler mixed-type polynomials, Adv. Difference Equ., 2014, 2014:238.
- [17] Kim, D. S, Kim, T, Seo, J. J, Higher-order Bernoulli, Frobenius-Euler and Euler polynomials, J. Comput. Anal. Appl., 17(1)(2014), 147-155.

- [18] Kim, T, Choi, J, A note on the product of Frobenius-Euler polynomials arising from the p -adic integral on \mathbb{Z}_p , *Adv. Stud. Contemp. Math.*, 22(2)(2012), 215-223.
- [19] Kurt, B and Simsek, Y, On the generalized Apostol type Frobenius Euler polynomials, *Advances in Differences equations*, (2013), 2013:1.
- [20] Kurt, B and Simsek, Y, Frobenius Euler type polynomials related to Hermite-Bernoulli polynomials, *Proceedings of the International Conferences on Numerical Analysis and Applied Mathematics*, Amer. Inst. Phys. Conf. Proc., 1389(2011), 385-388.
- [21] Pathan, M. A and Khan, W. A, Some implicit summation formulas and symmetric identities for the generalized Hermite based- polynomials, *Acta Universitatis Apulensis*, 39(2014), 113-136.
- [22] Pathan, M. A and Khan, W. A, Some implicit summation formulas and symmetric identities for the generalized Hermite-Bernoulli polynomials, *Mediterr. J. Math.*, 12 (2015), 679-695.
- [23] Pathan, M. A and Khan, W. A, A new class of generalized polynomials associated with Hermite and Euler polynomials, *Mediterr. J. Math.*, 13(2016), 913-928.
- [24] Pathan, M. A and Khan, W. A, Some implicit summation formulas and symmetric identities for the generalized Hermite-Euler polynomials, *East-West J. Maths.*, 16(1) (2014), 92-109.
- [25] Pathan, M. A and Khan, W. A, A new class of generalized polynomials associated with Hermite and Bernoulli polynomials, *Le Matematiche*, Vol. LXX (2015), 53-70
- [26] Ryoo, C. S, A note on the Frobenius-Euler polynomials, *Proc. Jangjeon Math. Soc.*, 14(4)(2011), 495-510.
- [27] Young, P.T, Degenerate Bernoulli polynomials generalized factorials sums and their application, *J. Number Theory*, 128(4)(2008), 738-758.